1:50000

DZ/T 0011—91

1
1.1
1.2
2
2.1 e
a.
1:100 000 1:200 000  1:500 000 2 /km®
0.25~1 /km? 0.04 ~00.08 /km?
b.
1:25 000 ~ 1:50 000
4~8 /km?
c.
0.n —
1:5 000~ 1:10 000 100 ~ 200
km’ >200 /km’ 100 x 20m ~ 500 x 20m
2.2 2.1
1:200 000
1:200 000
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2.3 1:200 000 L:
200 000

1:50 000 1:200 000
1:200
000
1:50 000
1:50 000

a.1:200 000

b. ~ 1:200 000

c. 1:200 000 1~2 /km +2

d. 1:200 000

e. 1:200 000
2.4 1:50 000 1:50 000 1:50 000

1 200 000
2.5 ~ 1:200 000
Cu Pb 7Zn
1:50 000
1:50 000
1:50 000
1:200 000 2.2 1:50 000
2.6
1:50 000 1:50 000 ~ 1:25 000
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3.1
3.2 1:50 000

a.

1:200 000
b. 1:50 000
1:200 000
1:200 000
C.
1:50 000
d.
1:50 000

3.3
3.4

a.

b

C.

d.

e.
3.5 1:50 000

1:50 000 1:50 000
3.6

4

4.1 -

1:50 000

1:50 000
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1:50 000

4.2
4.2.1
4.2.2 1:50 000 4 /km? ~ 8 /km?
4 /km?

4.2.3 -0.216
mm 60 -0.172mm 80
-0.216mm 60 -0.172mm 80

-2mm 10 -4.69 mm 4 ~ +0.995
mm 20 —-0.108mm 140

120¢ 150g
4.2.4
20 ~ 30m
4.2.5 1:50 000 1:25 000 1:50 000
0.5km
1km®
0.25km’ a b c¢c d
1 2
1:50 000 3
1
2.5mm

4.2.6
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3al 3b1

3b2
3a2

3d1
3cl
3d2
3c2

90%
4 /km’ 2

/km’ 4

300m ——
0.25 ~0.125km’
0.25 km’ 0.125km’
4.2.7 1:50 000  1:25 000
2mm
mm
4.3
4.3.1
1:50 000

4.3.2  1:50 000

a.

1:200 000 1/2 ~4/5

1:200 000 1/3 ~1/2 500 x 100m
200m

b.

0.25km?
3~6 12~24 /km’
4.3.3
20 ~ 50cm B C

0.5

500 x
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20 ~ 50cm
50 ~ 100cm

+0.45~ - 5mm

0.216mm 60
120¢ 150g
1/3
4.3.4
4.1~4.3.3
4.4
4.4.1
:50 000
a.
b.
C.
a
1:50 000 4~12 /km®
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4.4.2

150 ~ 200g
4.5
4.5.1

60°C

120g
150¢ 2
5.1.4  1:50 000
1:50 000
1:50 000
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5.2.3 -0.076mm 200

90%
0.076mm 200
90%

—-0.076mm 200

5.2.4 1~2mm
-0.076mm 200 5.2.2 5.2.3
6

6.1 1:50 000
6.1.1
6.1.2

a.

b.
10%

5%
C
6.7.3
10% 6.1.2
6.1.4
7

7.1 1:50 000 1:200 000
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1:50 000

7.2 X,
X, =X, + K,
?(O Gy K
2~3 95% ~ 99%
1:50 000
:200 000 1
1
rg/'s 1g/g
Ag 0.05 Mo 1
As 0.5~1 Nb 5~10
Au 0.0003 ~ 0.001 Ni 5
B 5~10 P 100
Ba 50 Pb 5~10
Be 1 Sh 0.3
Bi 0.3 Sn 2
Cd 0.2~0.5 Sr 50
Co 1 Ti 100
Cr 10~ 15 Th 5
Cu 2 U 1
F 100 % 20
Fe 1 000 w 1
Hg 0.01~0.05 Y 10
La 30 ~ 50 Zn 20
Li 10 Zr 10
Mn 30
7.3 2 33
A
1:200 000 33 B
X 1:50 000 33
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1:50 000 33
1:50 000
D 7.2
2
A B C D
Ni.Co.Cr.V.Mn.Li.
Nb.Zr.Ba.Sr. Ti. K.
Na.Ca.Mg.Si. Al
Ni.Co.Cr.Cu.Pb.Zn.
Ni.Co.Cr.V.Mn
V.Mn
Be.La.B.Sn.Li.Y. | Be.La.B.Sn.Li. Y.
Be.La.B.Sn
Nb.Zr.Ba.Sr. Ti Nb.Zr.Ba.Sr.Th
As.Sb.Bi.Hg
Ag.Cu.Pb.Zn.Cd.Fe | Ag.Cu.Pb.Zn.Cd.Fe | Ag.Cd.Fe Au. Hg
W. Mo W. Mo W.Mo.U W.Sn. Mo
As.Sb.Hg. Bi As.Sb.Hg. Bi As.Sb.Hg. Bi
Au Au
P.Th.Au TMK
P.Th P.Th
U U
F F F F
Cu.Pb.Zn.Cr.
Ni.Co. V. Ti.
Mn.Sr.Ba
P%
N M
P% = % x 100
> M
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1:50 000 1:200 000
1 2
7.4.1 P% 100% 90%
7.4.2 P% =80%
7.4.3 P% <80%
7.5
GSD-1-12
12 GSD
a.n GSD AlgC
RE %
b.n RSD 3
3
AlgC  GSD  =1gC - 1gC, <=0.20 <+0.13
RE% GSD :Cc_c*xloo < =*50 < =+35
<40 <25
RSD% GSD
C GSD n
C, GSD
G, GSD
n 10
12 20%
6
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7.6 1:50 000 50 500
50 10~ 12
GRD
GRD 1987
7.7 7.1
GRS
GRD
7.8 500
a C, C, X,
X - Al
YT
AlgC =1gC, - 1gC,
n GRD
C— n
C,—
4 50 GRD
G C,
4
C /pg/g G pe/e /AlgC
1 596 530 +0.050 9
2 376 320 +0.070 1
3 480 380 +0.102 3
4 390 530 -0.1332
n=4 2>AlgC= +0.0901
X, = Z,Anlgc _t 0.40901 ~0.0225
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b. C G,
Jx AlgC-X, 2 \/2 AlgC ? - nX,>
}\: =
n-1 n-1
AlgC =1gC, - 1gC,
v _ 2AlgC
X, = o
n
5 4
5
G pelg G, pelg AlgC AlgC ?
1 596 530 +0.0509 0.0026
2 376 320 +0.0702 0.0049
3 480 380 +0.1023 0.0105
4 390 530 -0.1332 0.0177
n=4 XAlgC=0.0901 > AlgC *=0.0357
X, = SAlgC _0.0901 _ 1 (05s
n 4
nX,>=4x 0.0225 2=0.0020
> AlgC * -nX;* =0.0357 - 0.0020 = 0.0337
3 AlgC - nX}
ro, | DlsC —nXi  f0.0337 _ 46
n-1 3
c. C C, RE%
G -G
RE% =~ ¢ 75 x 100
5%
RE% & ”
X, A RE%
6
7.9
3 X, » RE%




Xy A RE%
<3x <0.2~0.25 <0.33~0.41 <66.6~ 85
>3x <0.15~0.2 <0.25~0.33 <50~66.6
oy & W
SRt { 2 3 4 5 it
5:ff}‘|'4H§U] 374 5/4 64 1’%
a5 b A 7 Fed o S
0.3 80
o2d . R
I 60 -
Mn “‘nl T 54":7.‘/\.>\0
F o .
Gl 30 @
—u.24 20 .’."'0" )
- 10
={.3
.__—_.;l,{g 3 .Aﬁ Srrieen o RE %
3
7.10
RE %
6 ' 5% ~ 10% 100
=90%
7.11 1:50 000
1:50 000
YL RE% 1 " ou ”
“ " 7 X, A RE% 10 ~ 19
1 20 ~ 29 2 30 ~ 39 3
lo%
5%
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~95% =90% = 80% <80%
B <3¢, <0.2 <0.22 <0.25 >0.25
X
- >3, <0.15 <0.17 <0.2 50.2
<30, <0.33 <0.37 <0.41 >0.41
A
30, <0.25 <0.27 <0.33 50.33
<3C, <66.6 <70 <85 > 85
RE%
>3, <50 <55 <66.6 >66.6
7.12 50
6 7
7.11
7.13
10 20
100 8
8
A-B
ng/g RE RE = “A+B 12 x 100
0.3~10 RE<100%
10 ~ 100 RE<66.6%
> 100 RE<50%
Au 10%
1:50 000 10%
Au
8
90%
1:50 000
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7.14 1:50 000 1:200 000

1:50 000
1:50 000
8 GSD
GSD
Au
6 7
8
8.1 1:50 000
8.1.1
1:50 000
25 000
1:50 000
25 000
8.1.2 1:50 000
8.1.3
1:50 000
8.2 1:50 000
0.11g pg/g 9
0.1lgug/e ng/g 7
10
X S (Y
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0.7mm

S 11
9
lg pg/g ne'e lg 1g/g e
1.1 12
0.1 1.2 1.2 15
0.2 1.5 1.3 20
0.3 2.0 1.4 25
0.4 2.5 1.5 30
0.5 3 1.6 40
0.6 4 1.7 50
0.7 5 1.8 60
0.8 6 1.9 80
0.9 8 2.0 100
1.0 10
10
lg 11g/g vglg lg 11g/g 1ele
1.57~1.67 38 ~ 46
0.67~0.77 5 1.67~1.77 47~58
0.77~0.87 6 7 1.77~1.87 59~ 74
0.87~0.97 8 9 1.87~1.97 75~93
0.97~1.07 10 11 1.97~2.07 94~ 117
1.07~1.17 12~ 14 2.07~2.17 118 ~ 148
1.17~1.27 15~ 18 2.17~2.27 149 ~ 186
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lg p1g/g relg lg p1g/g nglg
1.27~1.37 19 ~ 23 2.27~2.37 187 ~ 234
1.37~1.47 24~ 29 2.37~2.47 235~ 295
1.47~1.57 30 ~ 37
11
re/e
<X—28
X—285—X—0.5S
X—0.55—X +0.5S
X +0.55—X +2S
> X +2S
8.3 1:50 000
1:200 000
8.2
8.3.1 500k m?
X
E
fXI 2

X =
\/ n-1

T, =X, +2A
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12

vg/'g 1eg/s f
10~ 15 1.00~1.19 2
16 ~ 24 1.20~1.39 21
25~ 39 1.40~1.59 20
40 ~ 62 1.60~1.79 11
63 ~99 1.80~1.99 3
13

lg g/ X, lgpg/g X,? f X, X, ?
1.00~1.19 1.1 1.21 2 2.2 2.42
1.20~1.39 1.3 1.69 21 27.3 35.49
1.40~1.59 1.5 2.25 20 30.0 45.00
1.60~1.79 1.7 2.89 11 18.7 31.79
1.80~1.99 1.9 3.61 3 5.7 10.83

Mf=57 DX, =83.9 2fX,>=125.53  DfX, >=7039.21

+ _ 2fX, 83.9
Lzl—w;=?=l.47l9lg‘ug/g
X =29.64ug/g
SX, °
MK, - 125.53_%
A= — = %6 = /0.03643 = 0.19091g¢/g
T,=X+21=1.4719+2x0.1909 = 1.85371g 11g/g = 71.40pg/g
1:50 000
m, X
UL Sk 1
Mo=Ro*op f —

S = > m, — X, g
/ L
)

3034 -




f; my
T =m, + 28
_ L 64
myy, _XOL + 2f2 —f] —f3
2f mOL_XOL2
A= 1
n'—j
12 13
0.19 21-2 3.61
moL—].20+m—1.20+w—1.3811g‘ug/g
1 1.381-1.20

2 1.381-1.1 2+(1.381—

2
.381+1.20) %21

2 0.19

2+(21><

1.381—1.20)_1

0.19 2

3217 /6701496 = 0. 1223

22—?

T=1.381+2x0.1223 =1.6256lgpg/
8.3.2 500km
50 000

/O. 157922 +0.00819 x20 /O

8.4
1.5 2 3 4 6 8
20 X—31 X—4r X—61 X—S8A
1 2 8
X—21 X—4x X—I16A
8.5

1 "N 21.5

g=42.2pglg

2

1 2 4 8
X—21 X—4r X—8x
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8.6

9.1

9.1.1

9.1.2

3036 -
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9.1.3

9.1.4

CNi/CCO

9.2

9.3 1:50 000

Ay

9.1

A A A

1:200 000

1:25 000 ~ 1:10 000

3037 -



B, B, B,
B,
B, B,
Cl Cz C3 C4 Cl Cz
Cs
Cy G
C2 C3 C4
L 1:50000 # 5 £ ].
[ 2n3¥ ERE |
{ 1 "
HEART AR it —4 B SR ERRK
HERFEMA) BE(A) fsH (Co
] i
" ; B3 1 H §r K
SR RIER HEBA S SR B
|
EHEMBE (B) BETEEREE
[ RERE |
T I 3
T /i HEART AR B0 A\ 105 %
FECY HR¥# (C) 5 R (Cy)
{ BEFE ]
1
[ zEsu ]
r i
[ TUF & | [ ZruwmeE |

4

9.4

9.5 1:50 000
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200 000

9.6

10.1

10.2

10.2.1

10.2.2

10.2.3

10

8~10

1:50 000

/km?
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10.2.4

10.2.5

10.3

10.4

10.5

11

11.1 1:50000
a.
b.
c.1:50 000
11.2

> =

@ [oF el

=

11.3
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Al PAN - CdS
PAN
Al.1
Al.1.1 A.R. G.R.
1- 2- -2- PAN
Al1.1.2 500mL 1 000mL 500mL 500mL 50mL
25mL SmL 50mL 10mL
SmL 30mL
Al1.1.3
0.1% 0.1¢g 100mL
0.3%1- 2- -2- PAN PAN3g 1 000mL
0.25N 22.91¢ CdCl, 2.5M,028.55¢ 1 000mL
10mL0.4NNa,S
0.4N 15.61 ¢ Na,S9H,0 48.04¢ 1 000mL
10mL0.25N
Al1.2
500mL
400mL
3 5% 3
pH=7 SmLPAN
0.25NCd - CL, S5mL
30mL 105<C
10
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A2

Sb Bi

As

1

1

100mL

A.R.

10

0.3g

B1

24

5%

Bl

B2

pH<3

|

1

G3

4.5pm

0.3g

3mL/min
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B3

580C 2
3~5mL —
2mL5%
1.0pg/g 90% 85%
C
1:200 000
C1
C1.1 30
C1.1.1 <2% 2~3 %
1 3~4 % 2 4~6 % 3 >5% 5 6%
C1.1.2 2%
2~3 % 1 3~4 % 2 4~5 % >5%
C1.1.3
C1.2
15
C1.2.1 1~2 % | 2~3 % 1.5
~4 % 2 4~5 % 3 >5%
C1.2.2 <5%
5~7 % 1 7~9 % 2 9~11 % 3 11~15 %
5 15~20 % 7 >20% 50
C1.3 13
C1.3.1 80% 75 ~80 %
1 70~75 % 3 70%
C1.3.2 80 % 95 ~ 100 % 1
90~95 % 2 85~90 % 3 80 ~85 % 5 < 80%
C1.4
16
C1.4.1
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C1.4.2 1%
1.1~2 % 5 2.1~3 % 9 > 3%

C1.4.3 100g 100g 95% 90g

1 100g 90% 90¢ 2 100¢ 80%

90g
1504
Cl1.4.4 <1g >1g
5% 56 % 1 6~7 % 3

7~10 % 5 >10%
C1.5 14
C1.5.1 3
C1.5.2 0.1
>5% 0.2
C1.5.3 0.1
C1.5.4 0.1
C1.5.5 2
C1.6 12
C1.6.1 3% 1~2 % 1
2~3 % 3 >3%
C1.6.2 0.2 2%
C2 60

c2.1

c2.2

c2.3

3

C3.1 90 “ "
C3.2 76 ~ 89 “ "
C3.3 60~ 5 “ "
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D1

Ag Pb Zn Mo W Ni Co
A8 Pb Ag Zn Co Cu Bi Ni
As Cd Ag Pb Zn Cu Bi
As Sb  Ag Pb Zn Cu Bi
Co Sn Mo
Ba As Sb Ag Pb Zn Cu Bi
Co Mo W Sn
Sb Cd Ag Pb  Sny Zn Cu Bi
Ni Co Mo Sm W Be
Sb Ag Pb Zn Cu Sn Bi Ni
Mo Co W
Sb As; Ag Pb Zn Au Mo
Cu Bi Co Ni As, W Be
Sb As Ag Pb Zn Au Cu Mo
Sn Bi Be W Co
Ba Sb As Ag Pb  Zn Cu Au
Mo Sn Bi W
" — "ISb— Ag Pb Zn — Sn Cu
K Bi — Co Mo W
Ba As Sb Ag Pb Zn Au Bi
Cu Mo Sn Co W Be
Ba As Pb Zn Ag Sn Cu Bi
Co Ni
Ba As; Ag Pb Zn Cu Bi Co
As, W
Ag Pb Cu Mo Co’
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Ag Pb Zn Cu Mo U

Ag Pb Zn Cu Mo U

Ba As Cu Ag Pb Zn Co Ni
Be

na Hg Ag Pb Zn Cu Co Ni
Sn Mo

Sb As Hg Ag Pb Zn Cu Mo
Bi Co Ni W Sn

As Hg Sb Pb Zn Cu Co Ni
As Hg Ag Pb Sn Zn Cu Co
Ni Be Mo W

Sh As Ag Pb Zn’

As Ag Pb Zn Cu Sn Ni

Ag Zn Cu Mo’

As Sb Hg Cu Ag Pb Zn Be
Co Ni

As Sb Hg Ag Sn Pb Zn Cu
Mo W Co Ni

1 A AL C.B
1979
2
3
D2
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F1

F2

F3

e e

a [N el

—~

X

X

1:50000

X X

cm
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F1

pH

F2

F3
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